° / 9¢‘601
=4
S
wzla
(005 @ dd VN )
ANVINAM OQ
1SNd3Zdd 'N1SI 0518+
< |8 “
=5 @8 801
0 -
= |6
O |
=2
o
w
8
S
=
o
@268
w5
0
~ | ©
0 -
|6
= 3
=\ g
o
wela
(005 @ dd viny) 1
1SNd3zZdd ro¥d 00'0L+ -3
00°SL+
N~
=
\_ @mze
o
o
(Te)
\ A
o
o.
> —
X <
z 3
\ ol NE
S| k< =
\ B 228
o ot
w o
Z -
N 2
o
200 Is \ 3
o
= 8
=3
o
@oqwe
\ =3
\ 0095+ o

108,07

€'601

8.'80)

8980}

12'801

16'801

=
-
h—
<| [o0%
»n
o
x
o
& ~
By
0826 g W
W 08°LYL+1S W)
00'c.
o
<«
X
h—
<C
iy
»n
(@]
x
o
06°9¢
00°02
00'80
& —
0086
w
=
o
17}
S
m
- o
0088 E
<
S8
_M =y
N [Te)
<
=
o
o
>
m
|
N
14
o
00'%9
05°09
08'8S
0095 _ w
w
=
o
»
>
m
o
087 AUn




